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Question 1: Hydrodynamic pad bearing
N Attempts: 16, average mark 12.0, maximum 19, minimum 6
- Generally well done. Several scripts in part (c) (iii) showed evidence of reading beyond the
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Question 2: Journal bearing
Attempts: 23, average mark 12.0, maximum 18, minimum 6

The most popular question. Some candidates got lost in the algebra of part (c) but there were
several solutions more elegant than the examiner’s.
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Question 3: Hertzian contact

Attempts: 21, average mark 12.8, maximum 19, minimum 3

The ‘book-work” of parts (a), (b) and (c)(i) was well done. Several candidates assumed that slip
will occur at the points of contact with the lower values of u rather than thinking about the spin
torque — which was rather the point of the question.
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Question 4: Gear design
Attempts: 21, average mark 13.7, maximum 18, minimum 4
Again the ‘book-work’ was done well and there were a number of sensible design solutions to

part (c).
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